## MANATEE COUNTY GOVERNMENT SOURCE SELECTION

SUBJECT	Force Main 14 Replacement North Shore Drive to Palm Avenue	DATE POSTED	Date Posted on mymanatee org 2/22/1/ By: MC
PURCHASING REPRESENTATIVE	Deborah Carey-Reed, 941/749-3074	DATE CONTRACT SHALL BE AWARDED	December 30, 2011
DEPARTMENT	Public Works Department	CONSEQUENCES IF DEFERRED	N/A
SOURCE RECOMMENDATION	Request For Quotation #11-3340DC	AUTHORIZED BY DATE	Melissa Assha, CPPO December 22, 2011

## **ACTION DESIRED**

Authorization to award Request for Quotation #11-3340DC for the replacement Force Main 14 to the lowest, most responsive, responsible vendor meeting specifications, Carl Hankins, Inc., Tampa, Florida, in the amount of \$165,418.50 (for Bid "B" – 160 contract days); and for subsequent execution of contract and simultaneous dating of performance/payment bonds and acceptance of insurance certification.

## **ENABLING/REGULATING AUTHORITY**

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.)

Ordinance 99-37, Resolution R-01-36, Section Three (pertaining to Category Three)

### BACKGROUND/DISCUSSION

- This project consists of the replacement of approximately 3000 If of a deteriorating force main in a residential area along North Shore Drive from Cypress Avenue to Palm Avenue. The Manatee County Public Work Engineering Division designed this project.
- 10/25/11 to 11/10/11 This Request For Quotation was solicited on the Manatee County website and directly to 15 Manatee
  County registered vendors. Four additional firms requested quote documents. Eleven bids were received of which nine
  were local.
- Estimated start of construction is 02/01/2012 with completion within 160 days for an estimated completion date of 07/10/2012.
- This project is funded from the Utilities 2010C Rev Improvements Bonds.

## **SUMMARY RESULTS:**

THREE LOWEST BIDS: (tabulation of all bids attached)
Carl Hankins, Tampa FL \$165,418.50 (Bid "B" 160 days)
Carl Hankins, Tampa FL \$169,343.00 (Bid "A" 100 days)

Andrew Sitework, Bonita Springs FL \$169,911.24 (Bids "A" and "B")

ATTACHMENTS: (List in order as attached)	INSTRUCTIONS:
Department Recommendation     Tabulation of Bids     Proposed Contract	N/A
<b>COST</b> \$165,418.50	SOURCE (ACCT# & NAME) 4156079980
COMMENTS N/A	AMT./FREQ. OF RECURRING COSTS (ATTACH FISCAL IMPACT STATEMENT) N/A

## MEMORANDUM

### PUBLIC WORKS DEPARTMENT

Project Management Division 1022 26th Avenue E. Bradenton, FL 34208



Phone: 941-708-7450 Fax: 941-708-7549 www.mymanatee.org

To:

R.C. "Rob" Cuthbert, C.P.M., C.P.P.O., Purchasing Manager

From:

Jeff Streitmatter, P.E., Interim Project Management Division Manager

Date:

December 9, 2011

Subject:

Force Main 14 Replacement North Shore Drive to Palm Avenue

Carl Hankins, Inc.

Recommendation for Award - IFB 11-3340DC

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract Bid B, with a construction time of 160 days be awarded to the lowest responsive, responsible bidder, Carl Hankins, Inc. in the amount of \$165,418.50 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Utilities 2010C Rev Improvements Bonds.

Please contact Anthony Benitez, P.E., Project Engineer if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/ab

Cc: Daniel T. Gray, Director, Utilities

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Anthony Benitez, P.E., Project Engineer

Prony Bonnaire Fils, Sr. Engineering Tech. Wattachments

Project File: 6079980 9.2

## MEMORANDUM

## **PUBLIC WORKS**

Engineering Division 1022 26th Avenue East Bradenton, FL 34208



Phone: 941.708.7450 Fax: 941.708.7475 www.mvmanatee.org

**FLORIDA** 

To:

Anthony Benitez PE, Project Manager

From:

Jim Stockwell, PE, Senior Project Engineer

Date:

December 8, 2011

Subject:

Engineering Recommendation of Award for IFB # 11-3340-DC

Force Main 14 Replacement (North Shore Drive)

Project No. 404-6079880

I recommend award of this project to Carl Hankins Inc. for \$165,418.50, as the lowest responsive bid for Bid B (160 days). References were acceptable. Their contractor's license is current and active per myflorida.com and there were no complaints filed at the BBB.

Thank You

Stochwell

CC:

(without attachments unless otherwise noted)

Jeff Streitmatter, Project Management Division Mgr.

Deborah Carey-Reed, Construction Buyer, Financial Management Dept.

S:\PWD\_Engineering\_Share\Util Eng Design\Proj\~SAN SWR Proj\FM-14 Replace, North Shore Dr\Docs\Benitez01MEM Bid Recomm.doc

# MANATEE COUNTY PURCHASING IFB#11-3340DC FORCE MAIN 14 REPLACEMENT

## **TABULATION**

													Total Street, or other Designation of the last of the	The same of the sa	
								TBL	T B Landmark						
	Bid B (160 Davs Completion)			Woodruff	Woodruff & Sons Inc. Bradenton Florida	Westra Co Palmetto	Westra Construction Palmetto, Floida	Consts	Construction Jacksonville, Floirda	Spectrum Undergrou Sarasota, Florida	Pur	Kuxhausen	Kuxhausen Construction Carl Hankins Inc Tampa Sarasota Floirda	Carl Hankins In- Floirds	Inc Tampa.
	Contraction of the latest section of the lat				-		0.000								
LIEM	DESCRIPTION	SLIND	on.	PRICE	D PRICE	PRICE	D PRICE	PRICE	D PRICE	PRICE	D PRICE	PRICE	D PRICE	PRICE	D PRICE
-	8" HDPE (C-906) Force Main (Directional Drill)	T.F	2,610	27.99	73,053.90	38.00	99,180.00	40.00	104,400.00	37.75	98,527.50	35.00	9	33,35	87,043.50
2	8" Df (Class 350) Force Main (Direct Bury)	LF	80	82.09	3,039.00	100.00	5,000.00	105.00	5,250.00	135.00	6,750.00	110.00	5,500.00	98.00	4,900.00
m	Pipe Adapters	EA	9	393.58	2,361.48	550.00	3,300.00	195.00	1,170.00	275.00	1,650.00	385.00	2,310.00	350.00	2,100.00
7	8" Plug Valve	EA	-	1,561.91	1,561.91	2,500.00	2,500.00	2,700.00	2,700.00	3,580,00	3,580.00	2,908.00	2,908.00	2,525.00	2,525.00
80	DI Fittings	1.8	350	8.16	2,856.00	11.00	3,850,00	10.00	3,500.00	10.00	3,500.00	5.00	1,750,00	4.75	1,662.50
9	Air Release Valve Assembly incl. Manhole	EA	-	5,262.71	5,262.71	4,600.00	4,600.00	5,900.00	5,900.00	5,595.00	5,595.00	7,182,00	7,182,00	5,900.00	5,900,00
7	Connect to Exist. Force Main	LS	-	3,050.11	3,050.11	7,700.00	7,700.00	4,000.00	4,000.00	2,050.00	2,050.00	3,600.00	3,600.00	1,950.00	1,950.00
œ	Asphalt Road Restoration (Base & Overlay)	SY	50	183.75	9,187.50	80.00	4,000.00	65.00	3,250,00	56.10	2,805.00	70.00	3,500.00	192.50	9,625.00
6	Asphalt Road Restoration (Mill & Overlay)	SY	400	34.65	13,860.00	22.00	8,800.00	35.00	14,000.00	37.50	15,000.00	45.00	18,000.00	36.30	14,520,00
01	Structural S-1 Asphalt	TON	30	446.24	13,387,20	150.00	4,500.00	165.00	4,950.00	236.50	7,095.00	180.00	5,400.00	180.00	5,400.00
Ξ	Grout Fill Abandoned 6" Force Main	AD.	645	6.57	4,237.65	12,00	7,740.00	11,40	7,353.00	30.00	19,350.00	10.00	6,450.00	05'9	4,192.50
22	Sodding	SY	900	2.36	1,180.00	4.00	2,000.00	3.15	1,575.00	2.00	1,000.00	4.00	2,000.00	5.50	2,750.00
2	Clean Crushed Shell in Place	TON	30	43.94	1,318.20	70.00	2,100.00	90.00	2,700.00	66.50	1,995.00	40.00	1,200,00	35.00	1,050.00
7	8" Pipe Restraints	EA	91	123.60	1,977.60	375.00	00'000'9	95.00	1,520.00	75.00	1,200.00	250,00	4,000.00	175.00	2,800.00
13	Erosion Control	LS	-	580.00	580.00	1,000.00	1,000.00	1,400.00	1,400.00	250.00	250.00	1,200.00	1,200.00	500.00	900.00
91	Mobilization (maximum 10% of total bid)	1.5	-	17,920.71	17,920.71	10,000.00	10,000.00	9,500.00	9,500.00	00.095,9	9,560.00	9,000.00	9,000,00	1,500.00	1,500.00
17	Miscellancous Work & Clean Up	LS	-	461.47	461.47	12,000,00	12,000,00	3,961.00	3,961.00	4,480.00	4,480.00	7,500,00	7,500.00	1,500.00	1,500.00
200	Discretionary			の国際の名前	\$15,500,00		\$15,500.00	15,500.00	\$15,500.00	September 1	\$15,500.00	SAME SA	\$15,500.00	Constant Constant	\$15,500.00
TOTA	TOTAL BID "B" -160 DAYS COMPLETION				170,795.44		199,770.00	TO SECURITY OF THE PARTY OF THE	192,629,00		199,887,50		188,350.00		165,418.50

Prepared By: MLofts

# MANATEE COUNTY PURCHASING IFB #11-3340DC FORCE MAIN 14 REPLACEMENT

# TABULATION

Bid B (160 Days	Bid B (160 Days Completion)  DESCRIPTION  8" HDPE (C-906) Fore Main (Directional 8" D1 (Class 350) Fore Main (Direct Bury Pipe Adapters 8" Plug Valve D1 Fittings Air Release Valve Assembly incl. Manhold Connect to Exist. Fore Main	UNITS		Company	Company Brandon	Contractors, Venice	Contractors, Venice	Canio Con	Canio Construction,	Ash Engineering, Tampa	ring, lampa	Andrew Sitework LLC,	work LLC.
	ESCRIPTION  00) Force Main (Directional  90) Force Main (Direct Bury  10) Force Main (Direct Bury  11) Force Main  12) Force Main	UNITS		Flor	Florida	Floirda	rda	Bradento	Bradenton Floirda	Flo	Floirda	Bonita Spri.	Bonita Springs Floirda
	90) Force Main (Directions 90) Force Main (Direct Bury 100) Force Main (Manhold 11 Force Main	UNITS LF LF		UNIT	EXTENDE	TINU	EXTENDE	TINI	EXTENDE	UNIT	EXTENDE	TINU	EXTENDE
	90) Force Main (Directionary) Force Main (Direct Bury) Inc. Main (Direct Bury) Inc. Assembly incl. Manhold At Force Main	LF	QTY.	(5)	(S)	(S)	(5)	(5)	(S)	(S)	D PRICE.	PKICE (S)	D PRICE (S)
	99) Force Main (Direct Bury Manhold Manhold M. Force Main	LF	2,610	37.70	98.397.00	33.00	86,130.00	35.30	92,133.00	34.08	88,948.80	33.02	86,182,20
	live Assembly incl. Manhold		50	101.00	5,050.00	78.60	3,930.00	72.00	3,600.00	79.46	3,973.00	118.92	5,946.00
	the Assembly incl. Manhold	EA	9	858.00	5,148.00	141.60	849.60	265.00	1,590.00	252.00	1,512.00	355.68	2,134.08
	ilve Assembly incl. Manhole	EA	-	2,193.00	2,193.00	2,080.00	2,080.00	2,250.00	2,250.00	1,876.65	1,876.65	2,467.00	2,467,00
	live Assembly incl. Manhold	LB	350	6.50	2,275.00	7.34	2,569.00	90.9	2,100.00	68'9	2,411,50	1.24	434.00
	st. Force Main	EA	-	5,555.00	5,555.00	3,173.00	3,173.00	7,150.00	7,150.00	2,480.10	2,480.10	5,537.00	5,537,00
		LS	-	5,500.00	5,500.00	3,562.00	3,562.00	4,375.00	4,375.00	15,000.00	15,000.00	5,292.00	5,292.00
$\Box$	Asphalt Road Restoration (Base & Overlay	SY	50	83.00	4,150.00	53.73	2,686.50	90.69	3,450.00	80.00	4,000.00	81.76	4,088.00
Т	Asphalt Road Restoration (Mill & Overlay	SY	400	36.30	14,520.00	36.93	14,772.00	38.50	15,400.00	38,00	15,200.00	23.47	9,388.00
Ī	Asphalt	TON	30	468.00	14,040.00	360.00	10,800.00	146.00	4,380.00	165.00	4,950.00	75.00	2,250.00
1	Grout Fill Abandoned 6" Force Main	CF	645	7.00	4,515.00	16.50	10,642,50	5.75	3,708.75	4.25	2,741.25	4.82	3,108.90
12 Sodding		SY	200	5.40	2,700.00	2.50	1,250.00	2.25	1,125.00	09'9	3,300,00	8.66	4,330.00
13 Clean Crushed Shell in Place	Shell in Place	TON	30	120.00	3,600.00	12.60	378.00	38.50	1,155.00	17.50	525.00	48.16	1,444.80
14 8" Pipe Restraints	nts	EA	16	91.00	1,456.00	65.00	1,040.00	115.50	1,848.00	73.19	1,171.04	73.15	1,170.40
15 Erosion Control	-	LS	-	2,100.00	2,100.00	\$00.00	\$00.00	2,650.25	2,650.25	3,392.00	3,392.00	98 109	601.86
16 Mobilization (r	Mobilization (maximum 10% of total bid)	LS	-	13,068.00	13,068.00	12,956.00	12,956,00	8,613.00	8,613.00	18,000.00	18,000.00	7,946.00	7,946.00
17 Miscellaneous	Miscellaneous Work & Clean Up	LS	-	15,330.00	15,330.00	2,085.00	2,085.00	8,950.00	8,950.00	5,000,00	5,000.00	12,091,00	12,091,00
18 Discretionary				THE PERSON NAMED IN	\$15,500.00	Section Co.	15,500.00	THE REAL PROPERTY.	\$15,500.00	NO NEWS	\$15,500.00	New Yorks	\$15,500.00
TOTAL BID "B" 160 DAYS COMPLETION	VS COMPLETION		A CHARLES AND A CHARLES		215,097.00		174,903.60		179,978.00		189,981,34		169,911.24

Prepared By: MLofts

# IFB #11-3340DC FORCE MAIN 14 REPLACEMENT MANATEE COUNTY PURCHASING

TABULATION

88,740,00 \$15,500.00 Carl Hankins Inc Tampa, Floirda 34.00 37.00 100.00 4.80 185,00 7.00 36.50 178.00 550.00 365.00 2,550.00 6,100.00 2,400,00 195.00 5.75 00.009,1 1,600.00 PRICE UNIT 5,400.00 91,350.00 2,310.00 2,908.00 1,750.00 7,182.00 3,600,00 2,000.00 Kuxhausen Construction 5,500.00 3,500.00 18,000.00 6,450.00 1,200.00 4,000.00 1,200,00 7,500.00 188,350.00 EXTENDE 9,000.00 \$15,500.00 D PRICE Sarasota Floirda 7,182.00 45.00 110.00 70.00 180.00 10.00 4.00 40.00 5.00 250.00 35.00 385.00 2,908.00 3,600.00 1,200,00 9,000,00 7,500.00 PRICE CINIT (S) EXTENDE D PRICE Spectrum Underground 6,750.00 1.650.00 3,500.00 5,595,00 2.050.00 15,000.00 19,350.00 1,995,00 250.00 4,480.00 98.527.50 1,000.00 \$15,500,00 199,887.50 Sarasota, Florida 3,580.00 37.50 135.00 275.00 10.00 2,050,00 56.10 236.50 30.00 66.50 75.00 5,595.00 2.00 250.00 9,560.00 4,480.00 PRICE LINI 3,961,00 EXTENDE 1,170,00 3,500,00 192,629.00 104,400.00 5,900.00 4,000.00 14,000.00 7,353.00 2,700.00 1.520.00 1,400.00 DPRICE Jacksonville, Floirda T B Landmark Construction 40.00 105.00 35.00 11.40 65.00 165.00 195.00 2,700.00 10.00 5,900.00 4,000.00 95.00 90.00 1,400.00 9,500.00 3,961.00 PRICE EXTENDE 3,300,00 7,700.00 D PRICE 99,180,00 5,000.00 3,850.00 4,600.00 4,000.00 8,800.00 4,500.00 7,740.00 2,100.00 6,000.00 1,000.00 10,000.00 12,000.00 \$15,500.00 199,770.00 Westra Construction Palmetto, Floida 550,00 38.00 100.00 7,700.00 80.00 22.00 150.00 12.00 70.00 2,500.00 11.00 4,600.00 375.00 1,000.00 4.00 12,000.00 10,000.00 UNIT (5) EXTENDE D PRICE 2,361,48 2,856.00 73,053,90 3,039,00 3,050,11 580.00 461.47 1,561.91 9.187.50 13,860.00 4,237.65 1,318,20 1.977.60 170,795.44 13,387,20 1,180.00 17.920.71 \$15,500.00 Woodruff & Sons Inc. Bradenton Florida 87.09 393.58 8.16 183.75 34,65 43.94 27.99 16.195,1 5,262.71 3,050,11 446.24 6.57 123.60 580.00 17,920,71 461.47 UNIT PRICE (5) 2,610 O. 400 30 500 90 350 50 30 91 9 INIS TON SY TON E E FB EA LS. SY 5 EA LS. 1 LF LS. 1.5 8" HDPE (C-906) Force Main (Directional Drill) Bid A (100 Days Completion) 8" DI (Class 350) Force Main (Direct Bury) Asphalt Road Restoration (Mill & Overlay) Asphalt Road Restoration (Base & Overlay) Air Release Valve Assembly incl. Manhole Mobilization (maximum 10% of total bid) Grout Fill Abandoned 6" Force Main TOTAL BID "A" - 100 Days Completion Miscellaneous Work & Clean Up DESCRIPTION Connect to Exist. Force Main Clean Crushed Shell in Place Structural S-1 Asphalt 8" Pipe Restraints Erosion Control Pipe Adapters 8" Plug Valve DI Fittings Sodding ITEM 30 6 10 4 11 = 12 13 91 =

9

2,190.00

5,000.00

D PRICE

1,680.00

2,400.00

9,750.00

6,100.00

14,800.00

5,550,00 4.515.00 1,600.00

1,600.00

169,343,00

1.095.00 2,848.00 550.00

Prepared By: Mlofts

# MANATEE COUNTY PURCHASING IFB #11-3340DC FORCE MAIN 14 REPLACEMENT

## TABULATION

						De Lonner F	* confession						THE REAL PROPERTY.
	Bid A (100 Days Completion)			Harris McBurney Company Brandon Florida	s McBurney Company Brandon Florida	Contractors, Venice Floirda	rs, Venice	Canio Con Bradento	Canlo Construction, Bradenton Floirda	Ash Enginee Floi	Ash Engineering, Tampa Floirda	Andrew Sitework LLC, Bonita Springs Floirda	k LLC, Bonita Floirda
<u>Ĕ</u>	DESCRIPTION	UNITS	γιν.	UNIT PRICE (S)	EXTENDED PRICE (S)	UNIT PRICE (S)	EXTENDED PRICE (S)	UNIT PRICE	EXTENDED PRICE (S)	UNIT PRICE (S)	EXTENDED PRICE (S)	UNIT PRICE (5)	EXTENDED PRICE
-	8" HDPE (C-906) Force Main (Directi	LF	2,610	37.70	98,397.00	33.00	86,130.00	35,30	92,133,00	34,08	88,948.80	33.02	86,182.20
61	8" DI (Class 350) Force Main (Direct	LF	50	101.00	5,050.00	78.60	3,930.00	72.00	3,600.00	79.46	3,973.00	118.92	5,946.00
m	Pipe Adapters	EA	9	858.00	5,148,00	141.60	849.60	265.00	1,590.00	252.00	1,512.00	355.68	2,134.08
4	$\neg$	EA	-	2,193.00	2,193.00	2,080.00	2,080.00	2,250.00	2,250.00	1,876.65	1,876.65	2,467.00	2,467.00
'n	DI Fittings	LB	350	6.50	2,275.00	7.34	2,569.00	90'9	2,100.00	68'9	2,411.50	1.24	434.00
9	Air Release Valve Assembly incl. Man	EA	-	5,555,00	5,555.00	3,173.00	3,173.00	7,150.00	7,150.00	2,480.10	2,480.10	5,537.00	5,537.00
7	Connect to Exist. Force Main	LS	-	5,500.00	5,500.00	3,562.00	3,562.00	4,375.00	4,375.00	15,000.00	15,000.00	5,292.00	5.292.00
∞	Asphalt Road Restoration (Base & Ov	SY	50	83.00	4,150.00	53.73	2,686.50	00'69	3,450.00	80.00	4,000.00	81.76	4,088.00
6	Asphalt Road Restoration (Mill & Ov-	SY	400	36.30	14,520.00	36.93	14,772.00	38.50	15,400.00	38.00	15,200.00	23.47	9,388.00
10	Structural S-1 Asphalt	TON	30	468.00	14,040.00	360.00	10,800.00	146.00	4,380.00	165.00	4,950,00	75.00	2,250.00
=		CF	645	7.00	4,515.00	16.50	10,642.50	5.75	3,708.75	4,25	2,741.25	4.82	3,108.90
12		SY	900	5.40	2,700.00	2.50	1,250.00	2.25	1,125.00	09.9	3,300.00	99'8	4,330.00
2		TON	30	120,00	3,600.00	12.60	378.00	38.50	1,155.00	17.50	525.00	48.16	1,444.80
=		EA	91	91.00	1,456.00	65.00	1,040.00	115.50	1,848.00	73,19	1,171.04	73.15	1,170.40
22	Erosion Control	LS	-	2,100.00	2,100.00	500.00	\$00.00	2,650.25	2,650,25	3,392.00	3,392.00	601.86	601.86
91	Mobilization (maximum 10% of total I	LS	-	13,068.00	13,068.00	12,956.00	12,956.00	8,613.00	8,613.00	18,000.00	18,000.00	7,946.00	7,946.00
17	Miscellaneous Work & Clean Up	LS	_	15,330.00	15,330.00	2,085.00	2,085.00	8,950.00	8,950.00	5,000.00	5,000.00	12,091.00	12,091.00
81	Discretionary			A Salah and a salah and a	S 15,500.00		15,500.00		S 15,500.00		S 15,500.00	-	S 15,500.00
TOT	TOTAL BID "A" - 100 Days Completion				215,097.00		174,903.60		179,978.00		189,981.34		1 -

\* IFB Article A.17 Mathematical Errors, "In the event of multiplication/extension error(s), the unit price shall prevail...

Prepared By: MLofts

Page 2 of 2

## SECTION 00500

## FORM OF AGREEMENT BETWEEN THE COUNTY OF MANATEE, FLORIDA

## AND THE CONTRACTOR AS IDENTIFIED BELOW

THIS AGREEMENT is made and entered into by and between the COUNTY OF MANATEE, a political subdivision of the state of Florida, hereinafter referred to as the "OWNER" and <u>CARL HANKINS, INC.</u>, hereinafter referred to as the "CONTRACTOR," duly authorized to transact business in the state of Florida, with offices located at <u>14512 North Nebraska Avenue, Tampa, Florida 33613 (Phone: 813-977-7270)</u>.

## Article 1. WORK

CONTRACTOR shall furnish all labor, materials, supplies, and other items required to complete the Work for IFB No. <u>11-3340DC Force Main 14 Replacement</u> in strict accordance with specifications and any duly authorized subsequent addenda thereto, all of which are made a part hereof.

## Article 2. ENGINEER

The County of Manatee, Project Management Division, is responsible as the OWNER and the County of Manatee Project Management Engineering Section, hereinafter referred to as the ENGINEER, is responsible for technical/engineering reviews and decisions in ensuring the Work is completed in accordance with the Contract Documents. All communications involving this project during construction will be addressed to:

County of Manatee Project Management Division Attn: Anthony Benitez, Project Engineer Project #4046079980/IFB #11-3340DC 1022 26<sup>th</sup> Avenue East Bradenton, Florida 34208

Phone: 941-708-7450 extension 7333

County of Manatee PMD/Engineering Section 1022 26<sup>th</sup> Avenue East Bradenton, Florida 34208

Phone: 941/708-7463

Where the terms ENGINEER and/or OWNER are used in the Contract Documents, it shall mean the OWNER'S project management team.

## **Article 3. CONTRACTOR'S REPRESENTATIONS**

In order to induce OWNER to enter into this Agreement, CONTRACTOR makes the following representations:

- 3.1 CONTRACTOR has familiarized itself with the nature and extent of the Bid Documents, Work, site, locality and all local conditions and laws and regulations that in any manner may affect cost, progress, performance or furnishing of the Work.
- 3.2 CONTRACTOR has studied carefully all drawings of the physical conditions upon which CONTRACTOR is entitled to rely.
- 3.3 CONTRACTOR has obtained and carefully studied (or assumes responsibility for obtaining and carefully studying) all such examinations, investigations, explorations, tests, reports and studies which pertain to the physical conditions at or contiguous to the site or which otherwise may affect the cost, progress, performance or furnishing of the Work as CONTRACTOR considers necessary for the performance or furnishing of the Work at the Contract Price, within the Contract Time and in accordance with the other terms and conditions of the Bid Documents; and no additional examinations, investigations, explorations, tests, reports, studies or similar information or data are or will be required by CONTRACTOR for such purposes.
- 3.4 CONTRACTOR has reviewed and checked all information and data shown or indicated on the Bid Documents with respect to existing underground facilities at or contiguous to the site and assumes responsibility for the accurate location of said underground facilities. Any additional examinations, investigations, explorations, tests, reports, studies or similar information or data in respect of said underground facilities conducted by the CONTRACTOR will be done at the CONTRACTOR's expense.
- 3.5 CONTRACTOR has correlated the results of all such observations, examinations, investigations, explorations, tests, reports and studies with the IFB terms and conditions.
- 3.6 CONTRACTOR has given OWNER written notice of all conflicts, errors or discrepancies that have been discovered in the Bid Documents and the written resolution thereof by OWNER is acceptable to CONTRACTOR.

3.7 CONTRACTOR shall schedule and perform the Work subject to OWNER's approval and shall hold OWNER harmless from all liabilities incurred due to CONTRACTOR's failure to coordinate with the OWNER.

## **Article 4. CONTRACT DOCUMENTS**

The Contract Documents which comprise the entire Agreement between OWNER and CONTRACTOR concerning the Work consist of the following:

- 4.1 This Agreement and Bid Document IFB #11-3340DC
- 4.2 Performance and/or other Bonds and Insurance Certificate(s)
- 4.3 Drawings (attached by reference)
- 4.4 Addenda numbers 1 to 1, inclusive.
- 4.5 CONTRACTOR's Bid Form and any other information submitted by Contractor prior to Notice of Award.
- 4.6 The following which may be delivered or issued after the effective date of the Agreement and are not attached hereto: all written Change Orders and other documents amending, modifying, or supplementing the Contract Documents.
- 4.7 The documents listed in paragraphs above are attached to this Agreement (except as noted otherwise above). There are no Contract Documents other than those listed above in this Article 4.

## Article 5. MISCELLANEOUS

- 5.1 Terms used in this Agreement are defined in Article 1 of the General Conditions.
- No assignment by a party hereto of any rights under or interest in the Contract Documents will be binding on another party hereto without the written consent of the party sought to be bound; and specifically but without limitation, monies that may become due and monies that are due may not be assigned without such consent (except to the extent that the effect of this restriction may be limited by law); and unless specifically stated to the contrary in any written consent to an assignment, no assignment will release or discharge the assignee from any duty or responsibility under the Contract Documents.

5.3 OWNER and CONTRACTOR each binds itself, its partners, successors, assigns and legal representatives to the other party hereto, its partners, successors, assigns and legal representatives in respect of all covenants, agreements and obligations contained in the Contract Documents.

The OWNER will pay, and the CONTRACTOR will accept in full consideration for the performance of the Work (**IFB No. 11-3340DC Force Main 14 Replacement**), subject to additions and deductions as provided therein, the sum of <u>One Hundred Sixty-five Thousand</u>, <u>Four Hundred Eighteen</u> Dollars and <u>Fifty Cents (\$165,418.50)</u> for Bid <u>"B"</u> based on Completion Time of <u>160</u> calendar days and the sum of \$388 as liquidated damages for each calendar day of delay.

9	CARL HANKINS, INC.
(	CONTRACTOR
BY:	
	Signature
	Type Name and Title of Signer

## COUNTY OF MANATEE, FLORIDA

On Behalf of the County Administrator,
Manatee County Government

DEPARTMENT

BY:
Signature

Name & Title of Signer

Date